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Welche der folgenden Gleichungen ist richtig: 
 
 

 
1. K2CO3 + C → K + CO 
2. K2CO3 + 2C → 2K + 3CO 
3. K2CO3 + C → 2K + CO 
4. K2CO3 + 2C → 2K + 2CO 
 
 
1. 3Na + 3NH3 → 3NaNH2 + H2 
2. 2Na + NH3 → 2NaNH2 + H2 
3. 3Na + 3NH3 → 4NaNH2 + H2 
4. 2Na + 2NH3 → 2NaNH2 + H2 
 
 
1. 2HNO3 + 2K2CO3 → 2KNO3 + H2O + CO2 
2. 3HNO3 + 2K2CO3 → 3KNO3 + H2O + CO2 
3. 2HNO3 + K2CO3 → 2KNO3 + H2O + CO2 
4. 3HNO3 + 3K2CO3 → 3KNO3 + 3H2O + 3CO2 
 
 
1. H2SO4 + 2NaOH →Na2SO4 + 2H2O 
2. H2SO4 + 2NaOH →Na2SO4 + H2O 
3. 3H2SO4 + 2NaOH →Na2SO4 + 3H2O 
4. 3H2SO4 + NaOH →Na2SO4 + H2O 
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Lösungen:  
 
 
Block 1           Gleichung  2 
 
Block 2  Gleichung 4 
 
Block 3  Gleichung 3 
 
Block 4  Gleichung 1 
 


